	
	Controls

(n=740)
	Cases

(n=440)
	p-value*

	Age, year
	57.7 (9.3)
	60.9 (8.4)
	<0.0001

	Sex, male
	286 (38.7%)
	227 (51.6%)
	<0.0001

	BMI, kg/m2
	25.9 (3.6)
	29.3 (4.4)
	<0.0001

	Waist circumference, cm
	86.0 (11.7)
	97.1 (12.4)
	<0.0001

	Systolic blood pressure, mmHg
	134 (18)
	143 (18)
	<0.0001

	Diastolic blood pressure, mmHg
	81.6 (11.2)
	86.4 (11.4)
	<0.0001

	Cholesterol, mmol/l
	6.12 (1.12)
	6.20 (1.19)
	0.27

	LDL cholesterol, mmol/l
	3.94 (1.01)
	3.97 (1.07)
	0.61

	HDL cholesterol, mmol/l
	1.45 (0.42)
	1.21 (0.34)
	<0.0001

	Triglyceride, mmol/l
	1.62 (0.84)
	2.24 (1.02)
	<0.0001

	Serum uric acid, µmol/l
	298 (75)
	339 (88)
	<0.0001

	Hx hypertension
	79 (10.7%)
	102 (23.2%)
	<0.0001

	Family history of diabetes
	79 (10.7%)
	113 (25.7%)
	<0.0001

	Smoking
	104 (14.1%)
	44 (10.0%)
	0.04


Results are mean (SD), or percentage.

* p=value is calculated by ANOVA for continuous variables and Chi2-test for binary variables

